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Commentary:
Students performed well on this task with about 20 percent more year 8 than year 4 students getting a perfect 
score. The weakest area of knowledge concerned the number of body parts for insects and spiders.

Questions/instructions:

Here is a model of a dino-
saur.  Scientists call this 
dinosaur a triceratops.  

These animals lived on Earth a very long time ago.  
You can pick the model up and have a good look at it 
while I ask you some questions.

Give student model of dinosaur.

1. Think about the place where the triceratops lived.  
How might the place where they lived a long time 
ago be different from what it is like now?
Prompt: Is there anything else you can 
tell me? not marked

2. How do you think the triceratops got its 
food? Prompt: Anything else?

                                                 eating plants   53

3. All animals have to protect themselves 
in the environments where they live.  
What would the triceratops need to pro-
tect itself from? Prompt: Anything else?

                                  carnivorous predators   78

                                other suitable response 
          ( eg. disease, starvation, dehydration)    2

4. How do you think the triceratops pro-
tected itself? Prompt: Anything else?

                                                            horns   91

                            charging, using its weight   23

            other valid response (eg. strong tail)   63

5. There are no longer any triceratops living 
on Earth.  What do you think happened to 
them? Prompt: What caused them to die 
out or become extinct?

           sudden change of climate or habitat; 
                               or crash of space object   42

Commentary:
About half of the year 4 students know that triceratops were plant eaters. High proportions identifi ed major 
predators and means of protection, but fewer could explain reasons for their extinction.

Spiders

Station                                                                                                                    Year 4 and year 8

Knowledge of differences between spiders and insects.

Computer, mouse, headphones, mousepad, Hypercard ® programme.

Questions/instructions:

This activity is done on the computer. The computer 
should show the home page.  If it doesn’t tell the 
teacher.

Click the button that says “Spiders”.  The computer 
will tell you what to do.

six legs
never have wings

two main body parts
make webs

three main body parts
eight legs

sometimes have wings
have two major eyes

usually have eight eyes
do not make webs

Click on the green or the blue side of the line so words that describe 
spiders are on the green and words that describe insects are on the blue. 

Click the white Done button when you’ve fi nsihed doing this.

Start Again

Read

Done

Dinosaurs

One to one                                                                                                             Year 4

Looking at a model of a triceratops, comment on its living environment, food sources, 
means of protection, and reasons for eventual extinction.

Plastic triceratops model.

SPIDER                                         INSECT

                                                                        six legs    67   81

never have wings                                                             76   88

two main body parts                                                61   72

make webs                                                                      93   98

                                                 three main body parts    64   73

eight legs                                                             85   92

                                                 sometimes have wings    83   94

                                                    have two major eyes    67   77

usually have eight eyes                                             80   85

                                                       do not make webs    88   95

                                     Number correct:     10   23   44
                                                               8–9   39   38
                                                               6–7   21   12
                                                               3–5   14    4
                                                               0–2    3     2


